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between teacher and employer, the better. Every teacher
should be at liberty to leave his position for a more responsible
and lucrative one whenever he can, and every Board of Trus-
tees should feel bound to replace an inferior teacher with a
superior one whenever they can.  Not all changes of tcachers
are undesirable, but only those which leave the school no better
than they found it. "The teacher of spirit asks only a fair field
and free competition.

Special Articles,
PUBLIC SCHOOL INSPECTOR'S OFFICE,

Axcaster, April 18th, 1885,
To the T'rustees, Tcachers, awl Pupils of the Pullic Schaols of
Wentworth :

Last year I ventured to suggest that the frest day of May should
bo set apart and celebrated in our Public Schools as ¢ Arbor Day.”
The very hearty mauner in which that suggestion was acted upon
convinced me that this was a step in the right divectiin, and that
the people were both ready and willing to improve and adora the
school grounds.  From the most rehable wmformation that 1 can
obtain there were planted on that day over 1500 shade and orna-
mental trees, besides the equally important work of removing the
rubbish that had accunulated duning the winter.  This 1s a noble
work an.i worthy of all encouragement. To secure united action
among Trustees, Teachers and Pugpils, I would recommend Trus.
tee Boards to set apart Friday, the first day of May, as * Arbor
Day,” and juin with the teachers and pupils, not only in planting
suitable shade trees, but 1 seeinz that the grounds are properly
cleaned up, and that ashes, sticks of wood, and other uncoamely
objects which have accumulated during the winter be removed from
the premises. I the fences, or gates, or outhouses need repairing
let 1t be promntly attended to, for I am fully persuaded that every
eftort in the direction of improving the appearance of the school
premises will have a beneficial mfluence upon the pupls. It is
perhaps unuecessary to vefer to the healthfulness of clean premises,
as I presume every person is aware that filth of cvevy kind is not
only unsightly and repulsive, but pusitively injurious. T therefore
trust that the suggestions T have made will be acted upon in every
section, and that May-Day will be spent in Making our School
grounds attractive. T havcafon wuids to say to the buysand girls
attending our schools, for I am very anxions to have them take a
part in this good work. Tna few years you will bid farewell to
schools, and enter upon the active duties of life. When at some
future day you re visit the * Ol Schoothouse,” nothing will call
up more pleasant wetnories thau tu hnow that you assisted in plant-
ing some of the beautiful shade trees under which another genera-
tion of school children will be enjoying themselves.  You will look
back to the time when you played upon these grounds, and will live
over again in memory those pleasant days of childhovd. Let cvery
boy and girl then do sumedhing to beautify the schoul ground and
make school life attractive, and you will never regret the time and
labor spent in this way. Lay your books aside for that day and
enter heartily, as T belicve you willy ity the spitit of the vcwasion.
With united effort much can be doue, and T louk forvard with plea.
sure to the time when every school ground will have its quota of
shade trees ; and flawer hede raremlly attended will be the rule and
not the exception.  In condlusivn, permit i to 84y to the teachors
that your position in the sectivn calls fur your active cu-uperation,
and I-trust each one will be found a leader in this gond work,

Yours faithfully,
J. H. SMITB, P. S. Inspector, Wentworth.

Prize Competition,

Enxnara.—In the Arithmetical problems in last week's issue of
the Jyunryay, the following typographicol errors oceur :—
In No. 9, £18 11s. Gd., should read £18 10s. Gd.
“ 17. Ans. 3% days, should read, ans. 3% days.
“ b Ans. §<+8gxi}, I T U xfi.
and Ans. Dyigh.
In No. 1. Ans. =20,

ARITHMETTICAL PROBLEMS.

FOX CANADA SCHOOL JOURNAL COMPETITION PRIZES—FOURTH CLASS,
—SIGNED No, 33, A.

1. Find value of a field {square) that & wheol, 22 fect in circum-
ference, makes 4,400 revolutivns, in passing around, at $12 peracre.

Solution.—33 % 4400 ¥ 1333 x $408 % } X 14X yly = §161,333},

2, A spent $880 m purchasing equal quantities of tea at 70cent
and coffee at 35 cents per 1b. He sells tho tea at 85 cents, and
coffee at 45 cents per 1b., find his net gains.

b'ul.xtwn.—,‘,:i%;_) x 100 = 800=Nu.. uf 1bs. of each Lought theguins.

10 cents per 1b. on the tea, and 5 cents on the coffee =15 conta

onaly. of ezéc;l, or 8120 on 800 lbs. of each.

0 100,115 o
7518 1 %100 o

J. A doues 3 thirds, of o work in 8 days, B dues as much in 18
daysas A can in 12 days. € does as much in 14 days as A and B
do in 8 days. In what time will B and C (separately) do a work
that A doesn 60 days?

Solution.—3 in 8, or whole in 12 days by A, and 12 days as=18

days B's, therefore B can do the wholein 18.  Again A does ¢y
in one day, or {y in 8 days similarly. B does ¥, then & X =

part C does 1n 14 days, ur i in 14, or § in 122 days, and §$3 x )¢

=90 days B's, and §4 x123=063 days for C's.

4. If 1t cost S11.75 to burnish a plate, § of an inch thick, at 25
cents per square foot ; find its weight.  Sp. gr. 7 (7:X62} 1bs.)

Solution. -é%-‘-? X Fxyyx§x132=1,28647 lbs, )

5. When wheat is selling at 82 per bushel, the 4 1b loaf costs 17
conts. What should T pay for 3 tons 6 cwt. 2 qrs. 10 lbs, wheat,
when 75 Ibs. of bread cost 83.375.

Sulution.—4 Ibs, cost 17 cents, 1 1b=y7 cents ;again 75 lbs. cost

$3.374, the 1=4} cts., therelore, prices are as 17 ; 18 and 30 x

J$=Q2.1112 per bushel, and 3 tans 6 cwt. 2 grs. 10 lbs=111

bushels, and 111 x $2.11]2 =8235.0517.

6. If 435 of alb. of tea cost as much as 32 1ba. of wheat, and 40
tbs. of each cust 890 ; find value of 9 bushels 20 1bs. of wheat and
10 1bs. of tea.

Solution. %4 1bs. of tea=33 1bs. of wheat—34§ lbs. of tea=

44 lbs. of wheat, therefore, 40 lbs. of teax 40 lbs. of wheat—
1800 be. of wheat=30 bushels, and 30 bushels cost §90, 1 bushel
witl cust 83, and 9} bushels=828 ; again 60 lbs. of wheat cust 300
cents, 11b. 5 cents, and 44 lbs. =82.20, price of 1 1b. tea, then
1 1b. costs §2.20—10 Ihs. =822 and 28—22=850.

7. A rows down a stream in 3 hours 30 minutes, and back in b
hours 10 minutes. If the rate of the stream is 2 miles per hour,
In what tine, at the samo rate of rowing, will he go from H to K,
a distance of 120 miles in still water.

Solution. —The stream helps him 2 miles in 3, or 7 miles in 8}

hours. In coming back the stream will retard him 7 miles, there-

fore, 14 miles is rowed in (5 hours 10 minutes—3 hours 30

minutes) and 432 miles in & hours 20 minutes. Agein§ hours

10 minutes +3 hours 30 minates . 2=4 hours 20 minutes=time

required to row 433 miles in still wator ; then 433 miles in ¢4

houis 20 minutes, or 120 miles in 11 hours 58 minutes 53}1%

seconds.

8. 1f 3 mendov 3 as much in 5 days as 8 wumen can in three
days, aud 5 wulnen can earn as much as 13 children in 1 day. In
how many days will 4 men earn as much as 12 children in 60 d s

Solution.—If 3 men do % in 5 days, 5 men will do § in 7} daya.

1 man will do 3 in 224 days; again 8 women do tho whole in 8

days, or 1 woman in 24 days ; then a man : woman, as 22} :24

or 15 : 16, and 5 men, 13 children, 16 womon=
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